A##HRR

XEHEIL

HEBRE

#

A hREEERFBYHKIE

!

1 H FR24510A 188 (K)

f57 L B ]

10:38

B

il B

=FET#%E 303%iE=E

sxETEE (F1)

FE (M)

B 5 7l BR 4% (F9)

3,400,000

3,400,000

2,946,525

* A

A

#l

# (1)

i

%

HBASHRIBHEE

3,300,000

FEER) -k =4

3,280,000

AL

BASHRREIITAH

3,350,000

EDELE

3,300,000

MEZEKRARH

3,290,000

10

11

12

13

14

15




A##HRR

XEHEIL

HEBRE

#

2

FEKHAE2ZRNLFHRIE

B

1 H

TERk244E10H188 (K)

f57 L B ]

10:50

B

il B

=FET#%E 303%iE=E

sxETEE (1)

FE (M)

B 5 7l BR 4% (F9)

2,790,000

2,790,000

2,465,384

* A

A #

i

%

AFRE#M/MELERIEX

R

BEERKARE ZFEXHR

2,610,000

EHERTR&ASH

2,595,000

XS BERIEE

2,560,000

AL

BARXHRBETHRE

2,580,000

10

11

12

13

14

15




A##HRR

KEZELHERIRE
1 % tES X EREYREERBER
I = FRHE24E10A188 (K)  |BAFLESRS 11:10
B fl 5 Fr =FHT{RI5 303 EE
xEtER (M) FE M) B 1K il BR{# 4% (1)
2,857,000 2,857,000 i
ES & % A HOE i =
1 |4 XT)— a4t 2,750,000 | 4L
2 XSt NEEE 2,817,000
3 |ERT)—H—ExRKkHA S 2,788,000
4 B XMEE 2,800,000
5 |AR=#HEEEER iR
6
7
8
9
10
11
12
13
14
15
&
z




A##HRR

KEZELHERIRE
1 % HERHEEEBRERE
B oA B TR24E10H188 (K)  |BIFLESRS 11:34
B fl 5 Fr =FHT{R35 303 EE
xEtEE (M) FEME(FE) B 1K il BR{# 4% (K1)
6,700,000 6,700,000 3
E3 & % A HOEMm i z
1 |04 XT)— 24t 6,310,000
2 |BRXsuiEBRER 6,400,000
3 |EARJ)—H—ExRKHAEH 6,350,000
4 B XMEE 6,230,000 | 4L
5 [BRXeu@EIIERE 6,470,000
6 |AR&#IEEEE 6,440,000
7 |kt EFER 6,500,000
8
9
10
11
12
13
14
15
&




A##HRR

KEZELHERIRE
1 % ETE R R SRERBEIE (ZTDI)
I = FRHE24E10A188 (K)  |BAFLESRS 11:51
B fl 5 Fr =FHT{RI5 303 EE
xEtER (M) FE M) B 1K il BR{# 4% (1)
2,160,000 2,160,000 1,786,093
ES & % A HOE i =
1 |k &4 F7A i)
2 |BREHIEVYIIE =FEXM 2,100,000
3 |=EERHKAR4 2,125,000
4 |BARHXBIHE 2,095,000
5 |BMXASHARZERIE JIBXE 2,050,000 %L
6
7
8
9
10
11
12
13
14
15
&




A##HRR

KERBIHBERIRE
1 % RTERRSSRERBRELIE
B oA M TRE245E10A188 (K)  |BAALESRS 13:12
B fl 5 Fr =FHT{R35 303 ERE
sxEtEE (M) FE M) B 1K il BR{# 4% (1)
2,150,000 2,150,000 1,783,665
E 3 & % A HOE i =
1 |[AER I %S 2,070,000
2 |EHFERRI XK 2,050,000
3 |ARs#ABELAK 2,030,000
4 |BARHXMEE 2,100,000
5 [%RABHI—TAER BEEXR 2,000,000 |F&#L
6
7
8
9
10
11
12
13
14
15
&




A##HRR

KERBIHBERIRE
1 % BTE Lk H OB RERIEEIE
M # B FR245F10A188 (K)  |BAFLEFRE 13:30
B fl 5 Fr =FHT{R35 303 EE
xEtEE (M) FEME(FE) B 1K il BR{# 4% (K1)
2,700,000 2,700,000 2,242,702
E3 & % A HOEMm i z
1 | ERSMFHRERIRX =ZFEEMR 2,650,000
2 |94 XT)—rkA =4t 2,687,000
3 |BREHAFTA 2,600,000
4 BRI EVYIIE =FEXM 2,550,000 (¥4l
5 |BRXEHXMER 2,580,000
6
7
8
9
10
11
12
13
14
15
&




HIRA—HRFALRABERRUVEERR

XL HERIRS

% % KEKAKEEHBAEEERELE

A# AR FALIBRFIR T —RERFE AL

M 4 H 24410 8 18 B |BA#LEFRS 13:50

B AL 15 PR =FET#G 303RBE

&EHEE(F) FE(Hi4E (M) RAEHIR fE4& ()
13,400,000 13,400,000 -
E 3 & % A # g M ] %

1 | XEAENRERIELEW O IEELFET,
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16

AL BERBEICKIEINLERUVEIEE

1% *LRFEH

2[&HLE

P& FLEE (FiiAZE)




